Attention! Secure TV with fastening rope

From a screen diagonal of 55 inches and an overall height*
of more than 100 cm, the mount must also be secured to
the wall as described below. Observe the other warnings
and safety instructions in the instructions for use.
*measured from the lower edge of the base to the upper
edge of the screen

@2 Achtung! Sicherung durch Befestigungsseil

Ab einer Bildschirmdiagonale von 55 Zoll und einer
Gesamthohe* Gber 100 cm muss die Halterung
zusatzlich, wie unfen stehend beschrieben, an der Wand
gesichert werden. Beachten Sie die tGbrigen Warn- und
Sicherheitshinweise in der Bedienungsanleitung.
*gemessen von der Unterkante des FuBBes bis zur
Oberkante des Bildschirms

@@ Attention ! Sécurisation par cable de fixation

A partir d’'une diagonale d’écran de 55 pouces et d’'une
hauteur totale* supérieure a 100 cm, le support doit de
plus étre fixé au mur comme décrit ci-dessous. Veuillez
respecter tous les averfissements et toutes les consignes
de sécurité du mode d’emploi.

*mesurée entre le bord inférieur du pied et le bord
supérieur de I'écran

@38 iAtencion! Con banda de sujecién para mayor
seguridad

Con televisores a partir de una diagonal de pantalla de 55
pulgadas y una altura total* de mds de 100 cm, el soporte
debe fijarse también a la pared como se describe a
confinuacion. Respete los demds avisos y advertencias de
seguridad en las instrucciones.

*medido desde el borde inferior del pie hasta el borde
superior de la pantalla.

Attentie! Zekering door bevestigingskoord

Vanaf een schermdiagonaal van 55 inch en een totale
hoogte* van meer dan 100 cm moet de beugel ook aan de
muur worden bevestigd zoals hieronder beschreven. Neem
de overige waarschuwingen en veiligheidsinstructies in de
gebruiksaanwijzing in acht.

* gemeten vanaf de onderrand van de voet tot de
bovenrand van het scherm

@B Attenzione! Sicurezza tramite corda di fissaggio

A partire da una diagonale dello schermo di 55 pollici e
da un‘altezza complessiva* superiore a 100 cm, il supporto
deve essere fissato alla parete come descritto di seguito.
Seguire le istruzioni di avviso e di sicurezza descritte nel
libretto di istruzioni.

*misurata dal bordo inferiore del piedino al bordo
superiore dello schermo

»
-

40 cm

¥
-

- -~

Pull through and fix

Uwaga! Zabezpieczenie za pomocq liny mocujgcej
Od przekgtnej ekranu 55 cali i catkowitej wysokosci*
powyzej 100 cm uchwyt nalezy dodatkowo zabezpieczyc
na scianie, jak opisano ponizej. Przestrzegaé pozostatych
wskazowek ostrzegawczych i bezpieczenstwa zawartych
w insfrukcji obstugi.

*mierzqc od dolnej krawedzi podstawy do gornej
krawedzi ekranu

@ Figyelem! Biztositds régzitékotéllel

55 huvelyk képdtlotol és 100 cm-nél nagyobb teljes
magassdagtol* a konzolt is régziteni kell a falhoz az
aldbbiakban leirtak szerint. Vegye figyelembe az egyéb
figyelmeztetéseket és biztonsdgi eldirdsokat.

*a Idbfej alsé szélétdl a képernyd felsé széléig mérve
B Atentie! Fixat prin cablu de fixare

De la o diagonald a ecranului de 55 de inci si o indltime
totald* de peste 100 cm, suportul frebuie, de asemenea,
fixat de perete, asa cum este descris mai jos. Respectati
toate indicatiile de avertizare si sigurantd din instructiunile
de utilizare.

*mdsuratd de la marginea inferioard a bazei pédnd la
marginea superioard a ecranului

Pozor! Zajisténi upeviovacim lankem

Od uhlopficky obrazovky 55 palcu a celkové vysky*
nad 100 cm musi byt drzak dodate¢né zajistén o sténu,
jak je popsdno nize. Dbejte dalsich vystraznych a
bezpecnostnich upozornéni v ndvodu k pouziti.
*méreno od spodni hrany stojanu k horni hrané
obrazovky

B3 Pozor! Poistka prostrednictvom upeviovacieho lana
Od uhlopriecky od 55 palcov a celkovej vysky* nad 100
cm sa musi drziak dodato¢ne zabezpecif na stene tak,

ako je popisané nizsie. Dbajte na dalsie vystrazné a
bezpecnostné upozornenia v ndvode na obsluhu.
*merané od spodnej hrany stojana az po hornu hranu
obrazovky

@ Atencdo! Prote¢do através de um cabo de fixagdo
A partir de um ecrda de 55 polegadas na diagonal e uma
altura total* superior a 100 ¢cm, o suporte também deve
ser fixado a parede, conforme descrito abaixo. Observe
os restantes avisos e indicagdes de seguranga no manual
de instrugoes.

*medida do canto inferior do pé até ao canto superior
do ecra

B

I

@88 Observera! Sékra med féstlina

Vid en skdrmdiagonal pa 55 ftum och mer och en
totalhdjd* pd mer dn 100 cm maste féstet ocksa séikras

i vdggen enligt beskrivningen nedan. Félj de dvriga
varnings- och sdkerhetsanvisningarna i bruksanvisningen.
*mdtt fran fotens nedre kant till skérmens 6vre kant

@ BHyMaHme! UKcaums KpernexHbIM TPOCOM

Mpw anaroHanv akpaHa 55 AMoB 1 obLuen BobicoTe™
cBbiLle 100 cm KpernneHne HeoOXoaANMO AOMONMHUTENTBHO
30KPEnUTb HAa CTEHe, KaK OMUCaHo Himke. CobritoaanTe
npeaynpexaeHns 1 YKa3aHWs No TeXHWKe 6e30nacHocT
B PYKOBOZCTBE MO/b30BATENS.

* U3MepPAETCA OT HMXXHEro KPas MOACTABKM A0 BEPXHEN
KPOMKM SKPAHA

B BHumaHme! OcurypsaBa ce Upes 3aKPenBaLLO BbXe
Mpw ANAroHA HA eKPAHa oT 55 MHYA 1 0BLLIA BUCOUMHA*
Hoa 100 cm, cTomKaTa cbLuo TpAbBea aa 6bae 3aKkpeneHa
KbM CTEHQATA, KOKTO € OnMcaHo no-aony. Cnassawte
OCTAHANUTE NPeayNPEeaNTENTHI YKA3AHUS 1 MHCTRYKLIMK
30 6e30MaCHOCT B PbKOBOACTBO 30 €KCMI0ATALMA.

* M3MepeHO OT AOMTHATA YACT HA KPAKA 40 FOPHATA YaCT
HQ eKpaHa

EEB NMpoocoxn! AodANon pEcW eEAPTHHOTOG OTEPEWONHG
Ma diayvieg SlaoTtaoelg navw ano 55 ivioeg kat
CUVOAIKO UWog* navw ano 100 cm NpéENEL TO OTHPLYHA

VA adobaANOTEL ENIMAEOV OTOV TOIXO, ONUIG NEPLYPAdETaL
KAl NOPAKATW. TNPEITE TIG UNONOLNEG UNOSEIEEIG
npogldornoinong kal achaleiag oTo eyxelpidlo xprnongG.

* LETONUEVO QMO TO KATUWTEPO AKPO TOU rMoSioU WG TN
QVWTEPO AKPO TNG 006vVNG

Dikkat! Sabitleme halati ile emniyete alinabilir

55 In¢’lik ekran késegeni ve * 100 cm‘nin Gzerinde toplam
yukseklik durumunda tutucu ayrica asagida agiklandigi
gibi duvara sabitlenmelidir. Ayrica kullanim kilavuzundaki
ikaz ve emniyet uyarilarini da dikkate alin.

*ayagin alt kenarindan ekranin Ust kenarina kadar
Sledlmdstir

I Huomio! Varmistus Kiinnitysvaijerilla

Kun television halkaisija on vahintaéan 55 tuumaa ja
kokonaiskorkeus* yli 100 cm, teline on kiinnitettava
liséksi seinGan alla olevan ohjeen mukaisesti. Noudata
kayttéohjeen muita varoituksia ja turvallisuusohjeita.

* jalustan alareunasta televisioruudun yldreunaan
mitattuna

We are so happy you chose o
hama product.

Enjoy using it!

aama

00
220869



E Assembling n Adjustments

For screen size
165 cm (65") please

use adaptor G4

Ouick Installation Guide [ Assembling

Required tools
\i

Installation kit

Attention! If the dimensions
differ, please note the
information on the front of
this sheet.

N = o7x35 (x4) Bl OXIIIIIIKD M8X12 (x4)
 — 5x38 (x4) [ (W M8x20 (x4) m Assembling
62 BB (o MBX30 (x4)
A4 (x2) D4 CW M8X50 (x4)

(x1) E1| (x3)

@

(x2) (x4)

@7 Me/M8 (x4)  [F .

Flat TV backside

C1, D1, D4 B1
(s + 4R

Curved TV backside
C2,D2,D4 B1 B2

M8x10 (x4) [ [ 22 (x]) Assembling

P

E M8x20 (x4) [33 4x4 (1)
(o

( iy

Moxi2 (x4) [ 2:3 (x1)
Mex20(x4) [l T £ (x1)

N B HFHdHBEHBA

M8X50  @8x5  M8x45 (D4)

géﬂ .y
il \/ s e
i

§§ §§ Scan QR or visit: www.hama.com O\ 2 00220869 ¥ Downloads & G &




